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(i)  FFI P T GEIT26 8 |

(i) @Y ge7 et &

(iii) 9% J99 & 3b 3HF GHT 3iHd & |

(iv) ¥97 &1 1-10 % 3T Tg-IR qct J97 8 | J8% 37 F11 3% & | 577 @
Jcdeh Y97 7 I 20 ieg] & 37fer &7 787 511 T80 |

(v) ¥ GEIT11-20 7% TY-IR qI7 J97 8 | F4H Jo7 5 3 36 3 | 599 & T
9T Gog-STERT 8 | $98 @ JAF F97 H IR 80 5G] & 371 FHT T8 FT
15T |

(vi) I97 GEIT21 - 25 T%F FH-FH GIci Jo7 & | Y% J97 & 5 3F 5 | 570 @
Ik J97 HT I 150 Feq] @ 37fer &7 787 517 =115 |

(vii) Y97 GEIT 26 FHEEA T 15T TT 4i7ifcie Femn &1 ggeE 3N T aar oa
THIHT HH G Galea & |

(viii) TAR K YRA & 170 77 IGT-FrfE] 1 377+ FTH-Ji&as] & @ia 8 7a97
T BTy |

(ix) IGI-HElE 917 % 170 @il a1 et & 39T #1 sgatd 3 widt 8

General Instructions :

(1) There are 26 questions in all.

(it)  All questions are compulsory.

(iii) Marks for each question are indicated against it.

(iv) Questions No. 1 — 10 are very short-answer questions carrying 1 mark
each. Answer to each of these questions should not exceed 20 words.

(v)  Questions No. 11 - 20 are short-answer questions carrying 3 marks each.
Out of which one question is a value based question. Answer to each of
these questions should not exceed 80 words.

(vi)  Questions No. 21 - 25 are long-answer questions carrying 5 marks each.
Answers to each of these questions should not exceed 150 words.

(vii) Question No. 26 is related to identification or locating and labelling of
geographical features on maps.

(viit) Outline maps of the World and India provided to you must be attached
within your answer-book.

(ix)  Use of templates or stencils for drawing outline maps is allowed.
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10.

11.

12.

64/1/2

9RA H foh8 R0 & ST hl UM o1 hIhT e Freptor g3t 2 2 1

What has led to a considerable degradation of quality of water in India ?

BN ¥ o TOTT IWE T=R I 954 31Uk HEwol s el &l SR 1 IgE
HIT | é+é:1

Mention the two reasons which have made the satellite communication
very vital for our country.

I ME O 7 Ty a1 | TRt S sl FHR AET qeh SIME TS 9 ST
a1 ? 1

Why did Sher Shah Suri build Shahi road from Indus Valley to Sonar
Valley in Bengal ?

YA | TR ST TR fohE JehR AT ST 8 2 1
How is the level of urbanisation measured in India ?

Tarey e % 31 gEeh HH-8 § 2 Lyl
What are the two indicators of a healthy life ? z2 2
TSN & $S &A1 § IS 1 3= Hcd 1 8 ? 1
Why do some areas of Rajasthan have a high density of population ?

Faferean wieq fora wvad 8 2 1

What is medical tourism ?
foepfta srelexeean d, agaeas ARl 1 e THR & fRaTsadl § TSR
frerar & 2 1

In which type of activities, do majority of the workers get employment in
a developed economy ?

et =1 gedl it gaT | Sfaeh oy = 9" g 2 1
Why do females have a biological advantage over males ?
Ty 31feh TG Il WRTET hI-AT B 2 1

Which is the most populous continent ?

‘Ta e weg i IRWTT @T | TFE A W foheal IR &A1 T 3g@
HIT | 1+2=3

Define the term ‘Human Geography’. Mention any four fields of Human
Geography.

‘e faee®’ B sraumon &1 Yfdured ferea foram o 2 3Eehl Sraumon <kl
T hIfvu | 1+2=3

Who introduced the concept of ‘human development’ ? Explain his
concept.

3 P.T.O.



13.

14.
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39 HIEhI 1 JUH HIFTT S I o 3R 1 Fuifa = 8 |

Describe the factors that determine the size of industry.

3x1=3

o fer T WRE % 2001 % HEETWHE ¥EU W fo@H 9 "Hfem @
rETgeesh Te hive iR fefafaa st % W 4T

(14.1) @ 3R B) gr Afhd HEMTI i YgaTHY 3T 37 4™ fafgu |
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1+1+1=3

(14.2) 390 9RA & ol o Tl & 9W foafay, S0 1 78 7= 2 |

(14.3)

‘T Tee <hl TSt ST |



Carefully study the map of India given below, showing metropolitan

cities of 2001, and answer the following questlons
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(14.1) Identify and name the metropolitan cities marked as &) and (B).
(14.2) Name any two states of Northern India, which do not have any

metropolitan city.
(14.3) Define the term ‘metropolitan city’.

Fie:  Hiciiad geT Facr givanaa ghgniaat & 079, 397 G877 14 F € WS
Note: The following question is for the Visually Impaired Candidates

only, in lieu of Q. No. 14 :

‘Ter’ Sreg <1 GRS ST | 9SiTe % 2l HEFTR % ATH §dTsU |

Define the term ‘metropolitan city’. Name the two metropolitan cities of

Punjab.
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15. “gddia & faee™ A 6l Tl a9 famigarsti =1 9uiq hifse | 3x1=3

Describe any three characteristics of “Hill Area Development

Programme”.

16. ifcass WS fohg hgd 8 2 uifcass @fast it &I @ fosivard fafgu | 1+2=3
What are metallic minerals ? State any two characteristics of metallic
minerals.

17. “fdp 3R Fa o Ged § YW, SEeA % YAfEat w1 AfE 3 3 T
HEwaqUl e 1@ 8 |7 YNd | I3 dF STIH IS <ol 389 HIA 1 gHH

“Migration has been an integral part and a very important factor in
redistributing population over time and space.” Justify the statement by
giving any three suitable examples from India.

18. WRd H I I ! fhH YR UgMYd ohtd 2 ? fohegl diF 380N Eled AT
Eﬁ”?ﬂq | IxI1=3

How do industries pollute water in India ? Explain with any three
examples.

19. 9 Sy fy & &9 fEufafe = g2 w2 2 *E fF s we
T | 3x1=3

Why is the area of cultivable land decreasing day-by-day in India ?
Explain any three reasons.

20. U A FEEE] b TV FR YELF & oI W R ara-ge H stevehal
7, o8 A adum ok wiet difedt & fou Swm & I S woie AEn |
Treran @ 2 o Wegl H TE iR | 3
What human values are required for the conservation and management

of our water resources, so that our present and future generations may
get usable water in sufficient quantity ? Explain in your own words.

21. ‘SETE 9RERET Seg i qRATST ST | gEehl foheal @R ferrarsti shi s
HIfT | 1+4=5

Define the term ‘nomadic herding’. Explain any four of its characteristics.

22, ‘“URHEEdE IGHTT vee h gt dife | sae Fmior w= feRem mem g 2
YR-eh e TaHT i fehal I faiwarsti =1 auia hifse | 1+1+3=5

Define the term ‘Trans-Continental Railways’. Why have they been
constructed ? Describe any three features of Trans-Canadian Railway.

64/1/2 6



23.

24.

25.

26.
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AU IR AfGdcd § I 2 2 I3 Ul HRU T HIFT | 5x1=5

Why does international trade exist ? Explain any five reasons.

“ara & fata ued w1 yey fora 9l § seaar w1 8 |7 el uie Sugw
IeTELUT |fgd 39 A i gfE T | 5x1=5

“The pattern of the composition of India’s exports has been changing over
the years.” Support this statement with any five suitable examples.

“grefior Sfeqat steafees feredt 3R yoae &9 @ 4fy @ I gt 8 |7 foned atg
SUIH okl gRT 30 HYA <l IfF HfT | 5x1=5

“Rural settlements are most closely and directly related to land.” Support
this statement with any five suitable arguments.

(26.1) ®ER % fou U weHifas @raHtes § g =) @@ A, B, C
wd D femm T E 1xo=2
A, Ik B wed Afie SHEE Jre &
B. WHd fIem Yo 2003 H AR qod Yok ATl <3
C. STEITATS TR-HETGIR IHTT T SAf=H TIH

D. UH THE HS-o
39 AU hl T HIY R IAS A0 & qH G T @

3G gel 7 fafgu |
(26.2) WRA % U MU USHifae W@AHfa # fefafaa &1 feafa Sww
fergl gra fagmsy 3t 396 A fafEw . 3x1=3

() 2001 ¥ 999 %Y SHEE] ITAT T
(i) de W fed HgWy 1 HgMR
(iii) SETe § ford 3o g9

7 P.T.O.



(26.1)

(26.2)

In the given political outline map of the World, the following
four features A, B, C and D have been shown :

A.
B.

C.

D.

The country having the largest population in Africa

The country having the highest rank in Human
Development Index in 2003

The terminal station of the Australian Trans-Continental
Railway.

A major seaport

Identify these features and write their correct names on the

lines marked near each feature.

In the given political outline map of India, locate and label the

following with appropriate symbols :

(1)
(ii)

The State having the lowest population in 2001
A metropolitan city of Maharashtra located on the coast

(iii) The Steel plant located in Chhattisgarh

Fie :  FHEICTRIT F97 HIT FIBATAT TGOSl & 1078, J97 G&IT 26 & T T &

Note: The following questions are for the Visually Impaired Candidates
only, in lieu of Q. No. 26 :

3ThIhT H &g AT SFHEEAT aTcl <1 1 A9 FaTsy |

Ha foshE @i 2003 H AHan Yo Ik el of I AW
Sdr=q |

ameeforad UR-mEEdE Wmmt & Rt sif<m wvm @ AW
AT |

64/1/2

(26.1)
(26.2)

(26.3)

(26.4)
(26.5)
(26.1)
(26.2)

(26.3)

(26.4)
(26.5)

2001 H 9 o T8 A SHEEAT a1d TsT 1 I FdTsy |
T § fod drer 3 359Td §39 T 919 <qTsy | 5x1=5

Name the country having the largest population in Africa.

Name the country having the highest rank in Human
Development Index in 2003

Name any one terminal station of the Australian
Trans-Continental Railway.

Name the State of India having the lowest population in 2001.
Name the Iron and Steel plant located in Chhattisgarh.
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I E. 26.2 & U For question no. 26.2

YA &1 W@-AHTas (i)
Outline Map of India (Political)
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